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1. Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A): Among the peninsular

rivers, Kaveri river flows almost

throughout the year with less up-downs

than other rivers.

Reason (R): Its upper catchment area

receives rainfall from the south-west

monsoon and the lower area receives

rainfall from the north-east monsoon.

Select the correct answer using the codes

given below :

Code:
(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is

not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

2. Consider the following statements
regarding Nagoya Protocol and choose
the correct statement using the code :

1. Nagoya Protocol agreement was
signed in October 2010.

2. This protocol came into force in 2014.
3. The objective of this agreement was

to protect forests, coral reefs and
biodiversity.

Code :
(a) 1 Only (b) 3 Only

(c) 1 and 2 (d) 1, 2 and 3

3. With the aim of competing with the

world's leading cotton brands, the

Central Government has recently

announced to set up cotton test labs in

6 states . Which of the following states

is included in this list? Choose the

correct answer using the code :

1. Maharashtra 2. Haryana

3. Punjab 4. Uttar Pradesh

Code :

(a) 1, 2, 3 and 4 (b) 1, 2 and 3

(c) 2, 3 and 4 (d) 2 and 3

4. 26th edition of the World Energy
Congress was held from 22-25 April
2024. Which of the following statements
is incorrect regarding the World Energy
Congress?

(a) World Energy Council was established
in 1923 AD.

(b) Its headquarters is located in London.
(c) The theme of the 26th World Energy

Congress was – ‘Redesigning Energy
for People and Planet’.

(d) The 26th edition of the World Energy
Congress was held in New York.

5. According to Reserve Bank data, India’s

Foreign Exchange Reserves reached to a

record level of $ 645.583 billion at the end

of March 2024. Which of the following are
included in the Foreign Exchange
Reserves? Choose the correct answer

using the code :

1. Foreign Currency Assets

2. Gold Reserve

3. Special Drawing Rights

4. Reserve assets with the Monetary

Fund

Code :

(a) 1, 2, 3 and 4 (b) 1, 2 and 3

(c) 2, 3 and 4 (d) 1 and 2

6. The world's largest copper manufacturing
plant has recently been established by
Adani Group at which place?

(a) Korba, Chhattisgarh

(b) Mundra, Gujarat

(c) Nagpur, Maharashtra

(d) Bhubaneswar, Odisha

7. What is meant by ‘Floating of Currency’?

(a) Controlling the exchange rate of

currency by the government.

(b) Leaving the exchange rate of any

currency free.

(c) To distribute loans in small quantities.

(d) Excessive increase in demand for

currency.
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8. Consider the following statements
regarding Operation Greens Scheme :

1. This scheme was launched in 2018.

2. Initially, three crops Tomato, Onion
and Potato were included under this
scheme, but in the Budget 2021-22, a
total of 22 crops have been included
under it.

Which of the above statement(s) is/are
correct?

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

9. Presently, the Govt. is continuously
emphasizing on infrastructure and
investment, which of the following
statement regarding the interim budget
2024-25 is not correct?

(a) The budget of ‘Effective Capital
Expenditure’ of the Centre is Rs. 13.7
lakh crore.

(b) 50-year interest-free loan to state
governments, with a total outlay of Rs.
1.3 lakh crore, to continue for another
year.

(c) There is a provision of capital outlay
of Rs. 2.40 lakh crore for Railways,
which is almost 8 times as compared
to the outlay of 2013-14.

(d) Capital investment outlay has been
increased by 33% for the third
consecutive year.

10. Which of the following statements
regarding ‘Stand Up India Scheme’ are
correct? Choose the correct statements
using the code :

1. The objective of this scheme is to
encourage entrepreneurship among
SC/ST and women entrepreneurs.

2. Refinance for this scheme is being
operated by SIDBI.

3. Under this, there is a provision to
provide loan ranging from Rs. 10 lakh
to Rs. 1 crore to the borrower.

Code :

(a) 1 Only (b) 2 Only

(c) 1 and 2 (d) 1, 2 and 3

11. Which one of the following islands of India
is situated at the mouth of river
Brahmani?

(a) Sri Harikota Island

(b) Pamban Island

(c) Wheeler Island

(d) Landfall Island

12. Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A): The eastern coast of India

has more number of natural ports.

Reason (R): The eastern coast is less

shredded.

Select the correct answer using the codes

given below :

Code:
(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is

not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

13. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II

(Tribe) (State)

A) Toda 1. Himachal Pradesh

B) Apatani 2. Nagaland

C) Konyak 3. Tamil Nadu

D) Gaddi 4. Arunachal Pradesh

Code :

A B C D

(a) 3 2 4 1

(b) 2 3 4 1

(c) 1 2 3 4

(d) 3 4 2 1

14. Which is the highest among the

following mountain peaks?

(a) Kanchenjunga (b) Namcha Barwa

(c) K-2 (d) Nanga Parbat
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8.

(a) (b)

(c) (d)

9.

(a)

(b)

(c)

(a)

10.

SC/ST

SIDBI

(a) (b)

(c) (d)

11.

(a)

(b)

(c)

(d)

12.

A R

(A)

(R)

(a) (A) (R) (R), (A)

(b) (A) (R) (R) (A)

(c) (A) (R)

(d) (A) (R)

13. I II

I II

A)

B)

C)

D)

A B C D
(a) 3 2 4 1
(b) 2 3 4 1
(c) 1 2 3 4

(d) 3 4 2 1

14.

(a) (b)

(c) (d)
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15. Which of the following statements is/are
correct?

1. Oxbow lakes and old flow route of rivers
are found at many places in the
middle Ganga plain.

2. Abundance of floods is the specialty of
the rivers of the lower Ganga plain.

Code :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

16. Which of the following districts of Uttar
Pradesh does not share border with
Haryana?

(a) Baghpat (b) Saharanpur

(c) Muzaffarnagar (d) Mathura

17. Which one of the following is black soil of
Bundelkhand region?

(a) Raadh (b) Bhur
(c) Rakad (d) Karel

18. Which of the following statements is/are
incorrect?

1. Parichha Dam is situated on Betwa
River.

2. Betwa river joins Yamuna river near
Hamirpur.

Code :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

19. The oldest wildlife sanctuary of Uttar

Pradesh is :

(a) Chandraprabha Wildlife Sanctuary

(b) Katarniaghat Wildlife Sanctuary

(c) Kishanpur Wildlife Sanctuary

(d) Ranipur Wildlife Sanctuary

20. Which one of the following folk dances does

not belong to Bundelkhand region?

(a) Pai Danda (b) Shaira

(c) Charkula (d) Rai

21. Match List-I with List-II and choose the

correct answer with the help of given

codes:

List-I List-II

(Branch) (Study)

A) Herpetology 1. Study of skin

B) Dermatology 2. Study of amphibians,

reptiles

C) Anthology 3. Study of flowers

D) Entomology 4. Study of insects

Code :

A B C D

(a) 1 2 3 4

(b) 2 1 3 4

(c) 3 4 1 2

(d) 1 3 2 4

22. Which one of the following is the living
substance of the cell?

(a) Cell wall (b) Nucleus

(c) Protoplasm (d) Lysosome

23. Which of the following bones in human
skeleton connects the ribs together?

(a) Carpals (b) Sternum

(c) Patella (d) Tendon

24. Absorption of nutrients mainly takes

place in -

(a) Large Intestine

(b) Stomach

(c) Small Intestine

(d) Pancreas

25. Which one of the following pairs is not

correctly matched?

(Vitamin) (Disease caused due to

Deficiency)

(a) Vitamin*A – Xerophthalmia

(b) Vitamin-B2 – Cheilosis

(c) Vitamin-B12 – Pernicious anemia

(d)  Vitamin-E – Skin diseases
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15.

(a) (b)

(c) (d)

16.

(a) (b)

(c) (d)

17.

(a) (b)

(c) (d)

18.

(a) (b)

(c) (d)

19.

(a)

(b)

(c)

(d)

20.

(a) (b)

(c) (d)

21. I II

I II

A)

B)

C)

D)

A B C D

(a) 1 2 3 4

(b) 2 1 3 4

(c) 3 4 1 2

(d) 1 3 2 4

22.

(a) (b)

(c) (d)

23.

(a) (b)

(c) (d)

24.

(a) (b)

(c) (d)

25.

(a) A

(b) B2

(c) B12

(d) E
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26. Which of the following is a Fire

Extinguisher?

(a) Benzene Hexachloride

(b) Freoan

(c) Carbon Tetrachloride

(d) Tetraethyl Lead

27. The waves used for telecommunication
are-

(a) Infrared (b) Microwave

(b) Ultraviolet (d) Visible Light

28. Which of the following statements is/are
correct?

1. Metals are mostly solid and are good
conductors of heat.

2. Mercury is a metal, hence it exists in
solid state at normal temperature.

Code :

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

29. Consider the following statements

regarding National Waterways-6 :

1. It was declared a National Waterway

in the year 2010.

2. Its total length is 623 km.

3. This includes the waterways of Barak

River in Assam.

Choose the correct statement(s) :

(a) 1 and 2 (b) 2 and 3

(c) 2 Only (d) 3 Only

30. Consider the following rivers-

1. Parvati 2. Banas

3. Mej 4. Hemavati

How many of the above are the tributaries

of Chambal?

(a) Only one (b) Only two

(c) Only three (d) All of the above

31. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II

(Waterfall) (River)

A) Hundru 1. Narmada

B) Chuliya 2. Subarnarekha

C) Punasa 3. Chambal

D) Shivasamudram 4. Kaveri

Code :

A B C D

(a) 2 3 1 4

(b) 1 3 2 4

(c) 2 4 1 3

(d) 1 2 3 4

32. Consider the following statements
regarding Brazil :

1. Atlantic Ocean is in its north and
east.

2. The climate of this country is
temperate.

3.  Itabira is the main iron ore mining
centre here.

4. Its biggest city is Sao Paulo.

Choose the correct statement(s) :

(a) 1, 2 and 4 (b) 2 and 3

(c) 1, 3 and 4 (d) 3 and 4

33. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II

(Volcano) (Country)

A) Popocatepetl 1. Italy

B) Mount Etna 2. Philippines

C) Mount Shasta 3. USA

D) Mount Pinatubo 4. Mexico

Code :

A B C D

(a) 4 1 3 2

(b) 2 3 4 1

(c) 4 2 3 1

(d) 2 4 3 1
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26.

(a)

(b)

(c)

(d)

27.

(a) (b)

(c) (d)

28.

(a) (b)

(c) (d)

29.

(a) (b)

(c) (d)

30.

(a) (b)

(c) (d)

31. I II

I II

A)

B)

C)

D)

A B C D

(a) 2 3 1 4

(b) 1 3 2 4

(c) 2 4 1 3

(d) 1 2 3 4

32.

(a) (b)

(c) (d)

33. I II

I II

A)

B)

C)

D)

A B C D

(a) 4 1 3 2

(b) 2 3 4 1

(c) 4 2 3 1

(d) 2 4 3 1
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34. Match List-I with List-II and choose the
correct answer with the help of given
codes:

List-I List-II

(Strait) (Location)

A) Makassar 1. Turkey

B) Hudson 2. Australia

C) Bass 3. Canada

D) Bosporus 4. Indonesia

Code :

A B C D

(a) 4 1 3 2

(b) 2 3 4 1

(c) 4 3 2 1

(d) 1 2 3 4

35. Consider the following statements :

1. Cotton is a member of the Malvaceae

family.

2. India is considered the originator of

cotton.

Choose the correct statement(s) :

(a) 2 Only (b) 1 Only

(c) Neither 1 nor 2 (d) Both 1 and 2

36. Match List-I with List-II and choose the

correct answer with the help of given
codes:

List-I List-II

(Local Wind) (Country)

A) Pampero 1. Argentina

B) Norte 2. Iraq

C) Shamal 3. Japan

D) Yoma 4. United States
of America

Code :

A B C D

(a) 1 4 3 2

(b) 2 4 3 1

(c) 2 4 1 3

(d) 1 2 3 4

37. Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A): Satpura Mountains of India

and Vosges Mountains of Germany are

examples of Horst mountains and Block

mountains respectively.

Reason (R): Block mountains and harst

mountains usually appear similar.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is

not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

38. Match List-I with List-II and choose the
correct answer with the help of given
codes:

List-I List-II

(Centre) (Industry)

A) Casablanca 1. Dairy

B) Sao Paulo 2. Coffee

C) Copenhagen 3. Chemicals

D) Ottawa 4. Paper

Code :

A B C D

(a) 3 1 2 4

(b) 3 2 1 4

(c) 4 2 1 3

(d) 1 2 3 4

39. The characteristics of fundamental

duties are :

1. These are only for citizens.

2. They are non-justiciable like the

directive principles.

Choose the correct statement(s) :

(a) Both 1 and 2 (b) 1 Only

(c) 2 Only (d) Neither 1 nor 2
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34. I II

I II

A)

B)

C)

D)

A B C D

(a) 4 1 3 2

(b) 2 3 4 1

(c) 4 3 2 1

(d) 1 2 3 4

35.

(a)

(b)

(c)

(d)

36. I II

I II

A)

B)

C)

D)

A B C D

(a) 1 4 3 2

(b) 2 4 3 1

(c) 2 4 1 3

(d) 1 2 3 4

37.

A R

(A)

(R)

(a) (A) (R) (R), (A)

(b) (A) (R) (R) (A)

(c) (A) (R)

(d) (A) (R)

38. I II

I II

A)

B)

C)

D)

A B C D

(a) 3 1 2 4

(b) 3 2 1 4

(c) 4 2 1 3

(d) 1 2 3 4

39.

(a) (b)

(c) (d)
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40. Which of the following are the features of

Fundamental Rights?

1. Some Fundamental Rights are

available only to the citizens.

2. All Fundamental Rights are

permanent.

3. Some are of negative characteristics.

4. All Fundamental Rights are

automatically enforceable.

Choose the correct statement(s) :

(a) 1, 2 and 3 (b) 1 and 3

(c) 2 and 4 (d) All of the above

41. In the context of the Seventh Schedule

of the Indian Constitution, Consider the

following pairs -

(Subject) (List)

1. Banking – Concurrent

2. Police – State

3. Toll Tax – Union

How many of the above pairs are

correctly matched?

(a) Only one

(b) Only two

(c) Only three

(d) None of the above

42. Match List-I with List-II and choose the

correct answer with the help of given

codes:

List-I    List-II

(State) (Rajya Sabha Seats)

A) Rajasthan 1. 18

B) Tamil Nadu 2. 9

C) Maharashtra 3. 10

D) Kerala 4. 19

Code :

A B C D

(a) 2 3 4 1

(b) 3 1 4 2

(c) 1 3 2 4

(d) 1 2 3 4

43. Article 163 of the Indian Constitution

deals with :

(a) Appointment of Governor

(b) Council of Ministers to aid and advise

the Governor

(c) Creation of Legislative Councils in

States

(d) Provisions regarding Inter-State

Council

44. Consider the following statements

regarding Government of India Act 1935 :

1. Diarchy system was started in the

provinces.

2. Diarchy system was started at the

centre.

Choose the correct statement(s) :

(a) Both 1 and 2 (b) 2 Only

(c) 1 Only (d) Neither 1 nor 2

45. Consider the following pairs :

(Source Country) (Feature)

1. Australia – Concurrent List

2. USA – Ideal of Justice in

Preamble

3. Japan – Procedure established

by law

4. Canada – Writ of Mandamus

Choose the correctly matched pair(s) :

(a) 1 Only (b) 2 and 3

(c) 1 and 3 (d) All of the above

46. Which of the following Directive Principles
of State Policy are based on socialist
principles?

1. Animal husbandry through modern

methods

2. Opportunities for healthy development

of children

3. Equal pay for equal work

4. Ban on cow slaughter

Choose the correct statement(s) :

(a) 1 and 2 (b) Only 2

(c) 2 and 3 (d) 1 and 4
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40.

(a) (b)

(c) (d)

41.

(a)

(b)

(c)

(d)

42. I II

I II

A)

B)

C)

D)

A B C D

(a) 2 3 4 1

(b) 3 1 4 2

(c) 1 3 2 4

(d) 1 2 3 4

43.

(a)

(b)

(c)

(d)

44.

(a)

(b)

(c)

(d)

45.

(a) (b)

(c) (d)

46.

(a) (b)

(c) (d)
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47. Consider the following statements

regarding Constituent Assembly :

1. There were two Vice-Presidents of the

Constituent Assembly one of them

was H.C. Mukherjee.

2. The National Song was adopted on 22

July 1947.

Choose the correct statement(s) :

(a) 2 Only (b) 1 Only

(c) Neither 1 nor 2 (d) Both 1 and 2

48. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II

(State) (Lok Sabha Seats)

A) Jharkhand 1. 40

B) Punjab 2. 14

C) Bihar 3. 13

D) Tamil Nadu 4. 39

Code :

A B C D

(a) 2 1 4 3

(b) 2 4 3 1

(c) 1 2 3 4

(d) 2 3 1 4

49. Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A): The Revolutionary Socialist

Party was founded during the Meerut

Congress Session of 1940.

Reason (R): Its objective was to drive out

the British from the country and to

establish socialism in India.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is

not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

50. Consider the following statements

regarding Mahatma Gandhi :

1. He founded the "Natal Indian

Congress" in South Africa.

2. He established a newspaper called

"Indian Opinion" in India.

Choose the correct statement(s) from the

above :

(a) Neither 1 nor 2

(b) 1 Only

(c) 2 Only

(d) Both 1 and 2

51. Which of the following organisations are

established by Dadabhai Naoroji?

1. East India Association

2. Bombay Association

3. London Indian Committee

4. London India Society

Choose the correct code :

(a) 1, 3 and 4 (b) 2, 3 and 4

(c) 1, 2 and 4 (d) 2 and 3

52. Match List-I with List-II and choose the

correct answer with the help of given

codes:

List-I List-II
(Newspaper) (Publisher)

A) The Tribune 1. Mahatma

Gandhi

B) Samachar 2. Sardar Dayal

Darpan Singh

C) Navjivan 3. Navin Chandra

Rai

D) Gyan Pradayani 4. J.C. Marshman

Code :

A B C D

(a) 3 4 1 2

(b) 2 4 1 3

(c) 2 3 1 4

(d) 3 4 2 1
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47.

(a) (b)

(c) (d)

48. I II

I II

A)

B)

C)

D)

A B C D

(a) 2 1 4 3

(b) 2 4 3 1

(c) 1 2 3 4

(d) 2 3 1 4

49.

A R

(A)

(R)

(a) (A) (R) (R), (A)

(b) (A) (R) (R) (A)

(c) (A) (R)

(d) (A) (R)

50.

(a)

(b)

(c)

(d)

51.

(a) (b)

(c) (d)

52. I II

I II

A)

B)

C)

D)

A B C D

(a) 3 4 1 2

(b) 2 4 1 3

(c) 2 3 1 4

(d) 3 4 2 1
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53. Consider the following statements

regarding Tebhaga Movement :

1. This farmer movement centred in

Bengal was started from Govindpur

village of Nadia district in Bengal.

2. The main leader of this movement was

Kamparam Singh.

Choose the correct statement(s) from the
above :

(a) Both 1 and 2 (b) 1 Only

(c) Neither 1 nor 2 (d) 2 Only

54. Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A): Concept of Brahmo Samaj

was based on monotheism and theism.

Reason (R): Brahmo Sabha was founded

in the year 1830, which was later called

Brahmo Samaj.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is

not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

55. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II

(Major Rebellions) (Main Leaders)

A) Fakir Uprising 1. Rupchand Konar

B) Ahom Revolt 2. Chirag Ali

C) Pagalpanti 3. Dadu Mir

Rebellion

D) Faraizi Movement 4. Tipu Mir

Code :
A B C D

(a) 2 4 3 1
(b) 2 1 4 3
(c) 1 2 3 4

(d) 2 3 4 1

56. The main reason for the establishment

of All India Trade Union Congress was

the establishment of ‘International Labour

Organization’ in 1919. Its founder was :

(a) Lala Lajpat Rai

(b) N.M. Joshi

(c) Diwan Chamanlal

(d) None of the above

57. Consider the following statements

regarding Swami Dayananda Saraswati :

1. Gave the slogan of ‘Go Back to Vedas’.

2. The book ‘Satyarth Prakash’ was

written in Sanskrit.

Choose the correct statement(s) :

(a) 2 Only (b) 1 Only

(c) Neither 1 nor 2 (d) Both 1 and 2

58. Which one of the following pairs is not

correctly matched?

(Newspaper) (Language)

(a) Pratap – Marathi

(b) India – English

(c) Samachar Darpan – Bangla

(d) The Samachar Press – Gujarati

59. The regime of who among the following
Mamluk dynasty rulers was the longest?

(a) Alauddin Masud Shah

(b) Muizuddin Bahram Shah

(c) Nasiruddin Mahmud

(d) Ghiyas-ud-din Balban

60. Consider the following statements

regarding Muhammad Ghaus :

1. He was the chief saint of the Shattari

sect, and contemporary of the Mughal

ruler Akbar.

2. The eminent musician Tansen was

his disciple.

Choose the correct statement(s) :

(a) Both 1 and 2 (b) 2 Only

(c) Neither 1 nor 2 (d) 1 Only
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53.

(a) (b)

(c) (d)

54.

A R

(A)

(R)

(a) (A) (R) (R), (A)

(b) (A) (R) (R) (A)

(c) (A) (R)

(d) (A) (R)

55. I II

I II

A)

B)

C)

D)

A B C D
(a) 2 4 3 1
(b) 2 1 4 3
(c) 1 2 3 4

(d) 2 3 4 1

56.

(a)

(b)

(c)

(d)

57.

(a) (b)

(c) (d)

58.

(a)

(b)

(c)

(d)

59.

(a)

(b)

(c)

(d)

60.

(a) (b)

(c) (d)
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61. Consider the following and arrange them

in chronological order :

1. Battle of Bilgram

2. Battle of Sirhind

3. Battle of Chausa

4. Battle of Dohariya

5. Battle of Chanderi

Code :

(a) 5, 3, 2, 1, 4 (b) 1, 2, 3, 4, 5

(c) 5, 4, 3, 1, 2 (d) 3, 4, 5, 1, 2

62. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II

(Imminent  (Birth Place)

Personality)

A) Tulsidas 1. Rajasthan

B) Veerbhan 2. Gujarat

C) Dadu Dayal 3. Punjab

D) Sundardas 4. Uttar Pradesh

Code :

A B C D

(a) 2 4 3 1

(b) 2 3 4 1

(c) 4 3 2 1

(d) 1 2 3 4

63. ‘Index of Industrial Production ’ is

released by-

(a) The Ministry of Heavy Industries

(b) The Ministry of Trade and Commerce

(c) The Central Statistics Office

(d) The Ministry of MSME

64. What are ‘Roaring Forties’, ‘Furious

Fifties’ and ‘Shrieking Sixties’?

(a) Westerly winds in the northern

hemisphere

(b) Trade winds in the northern

hemisphere

(c) Westerly winds in the southern

hemisphere

(d) Trade winds in the southern

hemisphere

65. Which of the following statements

regarding LSD is/are incorrect ?

1. It is a hallucinogenic substance.

2. It is obtained from protozoa.

Code :

(a) Only 1 (b) Only  2

(c) 1 and 2 both (d) Neither 1 nor 2

66. The correct order of tributaries of

Godavari river from their origin towards

the delta will be -

(a) Pranhita, Wainganga, Penganga,

Indravati

(b) Wainganga, Penganga, Pranahita,

Indravati

(c) Indravati, Pranahita, Penganga,

Wainganga

(d) Penganga, Wainganga, Indravati,

Pranhita

67. Jatindranath Mukherjee was a member

of which of the following revolutionary

committee(s)?

1. Anushilan Samiti

2. Yugantar

3. Gadar Party

Choose the correct answer which the

help of code :

(a) 1 only (b) 1 and 2

(c) 1 and 3 (d) All of the above

68. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II

A) Bhandara 1. Copper

B) Nellore 2. Mica

C) Dalli Rajhara 3. Iron Ore

D) Rakha Mine 4. Manganese

Code:

A B C D

(a) 3 1 4 2

(b) 2 1 4 3

(c) 1 2 3 4

(d) 4 2 3 1
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61.

(a) (b)

(c) (d)

62. I II

I II

A)

B)

C)

D)

A B C D

(a) 2 4 3 1

(b) 2 3 4 1

(c) 4 3 2 1

(d) 1 2 3 4

63.

(a)

(b)

(c)

(d)

64.

(a)

(b)

(c)

(d)

65.

(a) (b)

(c) (d)

66.

(a)

(b)

(c)

(d)

67.

(a) (b)

(c) (d)

68. I II

I II

A)

B)

C)

D)

A B C D

(a) 3 1 4 2

(b) 2 1 4 3

(c) 1 2 3 4

(d) 4 2 3 1
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69. Which of the following statements

regarding the Comptroller and Auditor

General  is/are true?

1. His salary is equal to that of a judge of

Supreme Court.

2. He is appointed by the President.

Code

(a) 1 Only (b) 2 Only

(c) Both 1and 2 (d) Neither 1 nor 2

70. ‘Rayalaseema’ is the southern extension

of which one of the following plateau?

(a) Dandakaranya Plateau

(b) Plateau of Telangana

(c) Malwa Plateau

(d) Bundelkhand Plateau

71. Which one of the following statements

regarding the social and cultural

conditions of the post-Gupta period is not

correct?

(a) The number of land grants increased.

(b) Occultist activities increased.

(c) Central control increased.

(d) The number of castes increased.

72. Which Sultanate period Land Revenue

System of determining the lagan was

called 'Kankut' during the Mughal period?

(a) Khet Batai (b) Lank Batai

(c) Muktai (d) Ras Batai

73. If an alpha particle is emitted from a
radioactive atom, what will be the effect
on it?

(a) The mass number decreases by 4 and
the atomic number by 2.

(b) The mass number decreases by 2 and
the atomic number by 4.

(c) The mass number increases by 4 and
the atomic number increases by 2.

(d) Both the mass number and the atomic
number increase by one.

74. Which of the following Hydropower

Projects belong to NTPC?

1. Tehri Project

2. Salal Project

3. Koteshwar Project

4. Dhauli Ganga Project

Code :

(a) 1, 2 and 3 (b) 1 and 3

(c) 2 and 4 (d) 1 and 4

75. Consider the following statements :

1. Department of Women and Child

Development, Government of India

came into existence as a separate

ministry in 2008.

2. Earlier, Department of Women and

Child Development was a department

under the Ministry of Human

Resource Development.

Which of the above statement(s) is/are

correct :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

76. Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A): The Shimla Conference

held from 25 June to 14 July 1945 was

failed.

Reason (R): The Muslim League laid down

the condition that it would itself select all

the Muslim members to be appointed in

the Executive Council of the Viceroy.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is

not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.
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69.

(a) (b)

(c) (d)

70.

(a) (b)

(c) (d)

71.

(a)

(b)

(c)

(d)

72.

(a) (b)

(c) (d)

73.

(a)

(b)

(c)

(d)

74.

(NTPC)

(a) (b)

(c) (d)

75.

(a)

(b)

(c)

(d)

76.

A R

(A)

(R)

(a) (A) (R) (R), (A)

(b) (A) (R) (R) (A)

(c) (A) (R)

(d) (A) (R)
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77. Arrange the following events in their

correct chronological order :

1. Chittagong Army Raid

2. Foundation of Naujawan Sabha

3. Murder of Saunders

4. Foundation of Hindustan Socialist

Republican Association

Code:

(a) 2, 3, 4, 1 (b) 4, 3, 2, 1

(c) 1, 2, 3, 4 (d) 2, 4, 3, 1

78. Consider the following statements :

1. The sixth session of the Congress was

held in Mumbai in 1890 AD.

2. In this session, the Congress leaders

passed the resolution that the

Congress session of 1892 AD would be

held in England, not in India.

3. This session was also addressed by

Kadambini Ganguly, the first female

graduate of Kolkata University.

Which of the above statement(s) is/are

correct?

(a) 1 and 3 (b) 1 and 2

(c) 2 and 3 (d) 1, 2 and 3

79. Which of the following works performed by

Akbar is not correctly matched?

(Events) (Year)

(a) End of Pilgrimage Tax – 1563 AD

(b) Beginning of – 1569 AD

Mansabdari System

(c) Shifting of Capital – 1571 AD

from Agra to Fatehpur

(d) Beginning of Dahshala – 1579 AD

System

80. Who among the following opposed the Sati

practice and called it a form of suicide

and completely prohibited for women?

(a) Medhatithi (b) Yagyavalkya

(c) Jivaka (d) None of these

81. Match List-I with List-II and choose the

correct answer with the help of given

codes:

List-I List-II

(Project)  (River)

A) Thein Dam Project 1. Ravi River

B) Koldam Project 2. Sutlej River

C) Salal Project 3. Chenab River

D) Kalagarh Dam 4. Ramganga

Project River

Code :

A B C D

(a) 2 4 1 3

(b) 4 2 3 1

(c) 1 2 3 4

(d) 1 4 3 2

82. Consider the following statements :

1. Anshan city is called the Pittsburgh

of China.

2. Shenyang city is called the Steel

Capital of China.

Which of the above statement(s) is/are

correct?

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

83. Which of the following provisions was not

made by the 15th Constitutional

Amendment Act-1963?

(a) Providing the power to the High Court

to hear election petitions.

(b) Increasing the retirement age of High

Court judges from 60 years to 62

years.

(c) Making provisions for the

appointment of a retired judge of a

High Court as an acting judge in the

same High Court.

(d) Making provisions for the

appointment of retired judges of the

High Court as temporary judges in the

Supreme Court.
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77.

(a) (b)

(c) (d)

78.

(a) (b)

(c) (d)

79.

(a)

(b)

(c)

(d)

80.

(a) (b)

(c) (d)

81. I II

I II

A)

B)

C)

D)

A B C D

(a) 2 4 1 3

(b) 4 2 3 1

(c) 1 2 3 4

(d) 1 4 3 2

82.

(a)

(b)

(c)

(d)

83.

(a)

(b)

(c)

(d)
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84. Consider the following statements :

1. Cerebrum is a part of the hind brain.

2. Cerebrum is the centre of

intelligence, consciousness and

memory.

Which of the above statement(s) is/are

correct?

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

85. Match List-I with List-II and answer with

the help of given codes:

List-I List-II

A) High Velocity 1. Pascal

B) Wave Length 2. Mach

C) Pressure 3. Joule

D) Energy 4. Angstrom

Code:

A B C D

(a) 2 3 1 4

(b) 1 2 3 4

(c) 4 2 1 3

(d) 2 4 1 3

86. What is meant by ‘Gilt Fund’ :

(a) Funds through which investments are

made in government securities.

(b) Funds through which investments are

made in foreign companies.

(c) Funds through which investments are

made abroad.

(d) None of the above

87. Consider the following statements :

1. Pradhan Mantri Yuva Yojana was

started in May 2021.

2. This scheme is being run by the

Ministry of Education to encourage

young authors.

Which of the above statement(s) is/are

correct?

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

88. In the various processes of succession,

'Nudation' refers to :

(a) Unauthorised entry of many new

species from outside into the

succession area

(b) The process of providing free space for

the arrival of the new community

(c) Competitiveness between interracial

and interaracial competition

(d) None of these

89. ‘Sangeet Ratna Award’ is given every year

by the Government of Uttar Pradesh since

2006 in the memory of :

(a) Ustad Bismillah Khan

(b) Ayodhya Prasad

(c) Zakir Hussain

(d) Pt. Ravi Shankar

90. Which one of the following pairs is not

correctly matched?

(Disease) (Plant)

(a) Bunchy Top Disease – Banana

(b) Wilting Disease – Arhar

(c) Red Rot Disease – Sugar Cane

(d) Koleroga Disease – Mango

91. Consider the following statements and

choose the correct statements :

1. Uttar Pradesh Urdu Akademi was

established in the year 1972.

2. Kanhaiyalal Maniklal Central Hindi

Institute is situated at Agra.

3. Uttar Pradesh Sanskrit Sansthan

was established in the year 1976.

Code :

(a) 1 and 2

(b) 2 and 3

(c) 1, 2 and 3

(d) None of these
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84.

(a) (b)

(c) (d)

85. I II

I II

A)

B)

C)

D)

A B C D

(a) 2 3 1 4

(b) 1 2 3 4

(c) 4 2 1 3

(d) 2 4 1 3

86.

(a)

(b)

(c)

(d)

87.

(a) (b)

(c) (d)

88.

(a)

(b)

(c)

(d)

89.

(a)

(b)

(c)

(d)

90.

(a)

(b)

(c)

(d)

91.

(a) (b)

(c) (d)
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92. Consider the following statements-

1. Buenos Aires is called ‘Paris of

South’.

2. Turkey is called ‘Gate to the West’.

Choose the correct statements :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

93. ‘Lath Bharava Bhoj’ is related with which

one ?

(a) Community Feast by Bhoksa Tribes,

on the occasion of Makar Sankranti.

(b) A type of Non-veg meal which is given

by Khairwar Tribes.

(c) Feast given by Tharus in the event of

widow marriage.

(d) Feast given by the Parhariya Tribes

on the occasion of birth of son.

94. Chandubi, Chapnala, Haflong lakes are

situated in :

(a) Himachal Pradesh (b) Punjab

(c) Jammu-Kashmir (d) Assam

95. The Nobel Prize in the field of Economics
was firstly given to :

(a) Simon Kuznets

(b) Paul Samuelson

(c) Gunnar Myrdal

(d) Ragnar Frisch and Jan Tinbergen

96. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II
(Industry) (Centre)

A) Gilat Jewelry 1. Mathura

B) Sports Goods 2. Varanasi

C) Wooden Toys 3. Meerut

D) Glass & Pottery 4. Firozabad

Code:

A B C D
(a) 1 2 3 4

(b) 2 3 1 4

(c) 1 3 2 4

(d) 2 3 4 1

97. M-Cap i.e. Market Capitalization means :

(a) Net market value of all the shares

of the company

(b) Gross market value of all the shares

of the company

(c) Gross market value of three-fourth

shares of the company

(d) Net market value of two-third shares

of the company

98. In 1910, who had edited ‘Pratap’, the

main revolutionary magazine published

from Kanpur of Uttar Pradesh ?

(a) Ganesh Shankar Vidyarthi

(b) Abdul Haleem

(c) Shivprasad Gupta

(d) Krishnadatt Paliwal

99. Which type of roots are found in

mangrove plants ?

(a) Prop Root

(b) Still Root

(c) Pneumatophores Roots

(d) Haustoria Roots

100.Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A): Australian continent is

known as "Land of the Golden Fleece".

Reason (R): Australia produces the

maximum wool at the world level.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is

not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.
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92.

(a) (b)

(c) (d)

93.

(a)

(b)

(c)

(d)

94.

(a) (b)

(c) (d)

95.

(a)

(b)

(c)

(d)

96. I II

I II

A)

B)

C)

D)

A B C D
(a) 1 2 3 4

(b) 2 3 1 4

(c) 1 3 2 4

(d) 2 3 4 1

97.

(a)

(b)

(c)

(d)

98.

(a)

(b)

(c)

(d)

99.

(a)

(b)

(c)

(d)

100.

A R

(A)

(R)

(a) (A) (R) (R), (A)

(b) (A) (R) (R) (A)

(c) (A) (R)

(d) (A) (R)
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101.Which one of the following Hydro Electric

Projects situated in Uttar Pradesh is

situated over the river Rihand ?

(a) Rajghat (b) Sheetla

(c) Obra (d) Matatila

102.The unit of Ecological Footprint is :

(a) Global Hectares

(b) Nano Meter

(c) Hopas Cubic Foot

(d) Cubic Ton

103.Which of the following is not included in

the concept of Money Supply (M1) in

India?

(a) Currency with the public

(b) Demand deposits with Banks

(c) Fixed Deposit with Banks

(d) Other deposits with R.B.I.

104.Which one of the following pairs is not

correctly matched ?

(a) Green Plants – Producer

(b) Deer – Primary Consumer

(c) Hawk – Secondary Consumer

(d) Microbes – Decomposer

105. Employee State Insurance Scheme in

India was started in which year ?

(a) 1947 (b) 1952

(c) 1955 (d) 1972

106. The element not found in the blood is :

(a) Iron (b) Copper

(c) Chromium (d) Magnesium

107. In Leukemia (Blood Cancer) –

(a) No. of Red Blood Cells is increased.

(b) No. of White Blood Cells is increased.

(c) No. of Red Blood Cells is decreased.

(d) No. of White Blood Cells is decreased.

108. In a row of students, Ram is 11th from the

left and Seema is 7th from the right. If

they interchange their positions, Ram

becomes 15th from the left. How many

total students are there?

(a) 20 (b) 22

(c) 21 (d) 25

109.How many triangles are there in the

figure given below?

(a) 29 (b) 27

(c) 23 (d) 30

110.A child has a cube-shaped block with

letters A, B, C, D, E, A written on each of

its faces. If the cube is tossed once, the

probability of getting A will be-

(a)
1

3
(b)

1

6

(c)
1

5
(d)

2

3

111. 94

6

169

12

?16

20

(a) 16 (b) 25

(c) 29 (d) 45

112.Find the missing number :

–1, 0, 1, 8, 27, ?

(a) 24 (b) 44

(c) 60 (d) 64
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101.

(a) (b)

(c) (d)

102.

(a)

(b)

(c)

(d)

103. M1 

(a)

(b)

(c)

(d)

104.

(a)

(b)

(c)

(d)

105.

(a) (b)

(c) (d)

106.

(a) (b)

(c) (d)

107.

(a)

(b)

(c)

(d)

108.

(a) (b)

(c) (d)

109.

(a) (b)

(c) (d)

110.

A, B, C, D, E, A 

A 

(a)
1

3
(b)

1

6

(c)
1

5
(d)

2

3

111. 94

6

169

12

?16

20

(a) (b)

(c) (d)

112.

–1, 0, 1, 8, 27, ?

(a) (b)

(c) (d)
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113. If ‘Teaching’ is related to learning, then

‘Treatment’ is related to :

(a) Doctor (b) Medicine

(c) Hospital (d) Diagnosis of disease

114.A is the brother of B and M, G is the mother

of B, F is the father of A. Which of the

following statements is not correct?

(a) B is the brother of M

(b) A is the father of M

(c) G is the wife of F

(d) A is the son of F

115. If ‘COLD’ is written as DPME then ‘CHINA’

will be written as :

(a) DHIMB (b) DJKMB

(c) DIJOB (d) DIJPB

116. Which  will replace Question Mark (?)

30

48 24

36

45 72

?

48 60

(a) 40 (b) 46

(c) 96 (d) 75

117.A boy moves 5 km in the east direction,

turns left, moves 2 km, then turns right

and moves 3 km. After that he turns left

and walks straight. In which direction is

he going now?

(a) East (b) West

(c) South (d) North

118.Find the missing number :

5, 16, 49, 104, ?, 280

(a) 115 (b) 148

(c) 170 (d) 181

119.Which one of the following is the

mismatched?

(a) 26 January (b) 13 April

(c) 15 August (d) 2 October

120.A tree has nine branches, each branch

has nine nests, each nest has nine birds

and each bird needs nine grains to eat.

How many grains will be needed in total?

(a) 36 (b) 4781

(c) 6561 (d) 7248

121. In December-2023, National Geoscience

Data Repository Portal was launched by

which ministry ?

(a) Ministry of Mines

(b) Ministry of Earth Sciences

(c) Ministry of Commerce and Industry

(d) Ministry of Electronics

122. In December-2023, which of the following

countries announced its exit from China's

Belt and Road Initiative ?

(a) Egypt

(b) Turkmenistan

(c) Italy

(d) UAE

123. In December-2023, which of the following

became India's first AI Startup to be a
Unicorn ?

(a) Krutrim (b) Gap

(d) Disha (d) Kiran

124.The 18th G-20 Summit was hosted by

India in December 2023. The main theme

of this Summit was-

(a) Vasudhaiva Kutumbakam

(b) Look Towards the Future

(c) Our Common Future

(d) None of these
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113.

(a) (b)

(c) (d)

114. A B M G B F A

(a) B M 

(b) A M 

(c) G F 

(d) A F 

115. ‘COLD’ DPME CHINA 

(a) DHIMB (b) DJKMB

(c) DIJOB (d) DIJPB

116.

30

48 24

36

45 72

?

48 60

(a) 40 (b) 46

(c) 96 (d) 75

117.

(a) (b)

(c) (d)

118.

5, 16, 49, 104, ?, 280

(a) 115 (b) 148

(c) 170 (d) 181

119.

(a) (b)

(c) (d)

120.

(a) (b)

(c) (d)

121.

(a)

(b)

(c)

(d)

122.

(a)

(b)

(c)

(d)

123.

(a) (b)

(c) (d)

124.

(a)

(b)

(c)

(d)
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125. Who among the following Members of

Parliament was disqualified from the

Lok Sabha in December 2023 for his/

her involvement in the ‘Cash for Query’

scam?

(a) Adhir Ranjan Chowdhury

(b) Mahua Moitra

(c) Nurul Islam

(d) Parth Bhowmick

126. According to the ‘India Skills Report-

2024’ published in December-2023, which

of the following states has emerged as

the most preferred state to work?

(a) Gujarat (b) Kerala

(c) Maharashtra (d) Karnataka

127. In Dec. 2023, which state government

announced to start India's first submarine

tourism in the year 2024?

(a) Goa (b) Maharashtra

(c) Gujarat (d) Kerala

128.Consider the following statements

regarding ‘Good Governance Day’

celebrated on 25 December 2023 :

1. This day was celebrated for the first

time in the year 2014.

2. Bharat Ratna Atal Bihari Vajpayee

was born on 25 December.

The correct statement(s) is/are :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

129. In December-2023, who among the

following became the first woman officer

to be deployed on a warship in the Navy?

(a) Prerna Devsthali

(b) Deepika Mishra

(c) Shivangi Singh

(d) Parul Sinha

130. In December-2023, a committee was

formed under the chairmanship of who

among the following for the functioning

of the Indian Wrestling Federation?

(a) Bhupinder Singh Bajwa

(b) Anish Dayal

(c) Meena Kumari

(d) Manjula Bhargava

131.In December-2023, the 27th World
Investment Conference-2023 was

organized in?

(a) Gurugram (b) Hyderabad

(c) New Delhi (d) Bangalore

132. In Dec. 2023, a report titled ‘Worldwide

Cost of Living-2023’ was released by the

Economic Intelligence Unit (EIU),

according to this report, the most expensive

and cheapest city in the world are :

(a) Vienna and Lebanon

(b) Singapore and Kabul

(c) Singapore and Damascus

(d) New York and Lebanon

133.Which one of the following pairs is

correctly matched?

(a) Time Person – Taylor Swift

of the Year 2023

(b) CEO of the Year 2023– Sam Altman

(c) Athlete of the – Lionel Messi

Year 2023

(d) All of the above

134.Which of the following warships was

inducted into the Indian Navy in

December 2024, which is named after a

city in North East India?

(a) INS Agartala

(b) INS Imphal

(c) INS Shillong

(d) INS Kohima
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125.

(a)

(b)

(c)

(d)

126.

(a) (b)

(c) (d)

127.

(a) (b)

(c) (d)

128.

(a) (b)

(c) (d)

129.

(a)

(b)

(c)

(d)

130.

(a)

(b)

(c)

(d)

131.

(a) (b)

(c) (d)

132.

(a)

(b)

(c)

(d)

133.

(a)

(b)

(c)

(d)

134.

(a)

(b)

(c)

(d)
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135.

(a) (b)

(c) (d)

136.

UNIDROIT

(a) (b)

(c) (d)

137.

(a) (b)

(c) (d)

138.

(a) (b)

(c) (d)

139.

(a) (b)

(c) (d)

140.

(a) (b)

(c) (d)

135. In which city of U.P., the 42nd Ramayana
Fair was inaugurated in December 2023?

(a) Varanasi (b) Ayodhya

(c) Chitrakoot (d) Gorakhpur

136. Who among the following became the first
Indian woman officer to be selected to
the Governing Council of the
International School for the Unification
of Private Law (UNIDROIT) in Dec. 2023?

(a) Uma Shekhar

(b) Babita Samaria

(c) Archana Singh

(d) Sudhakar Chandrakar

137. In Dec.-2023, American search engine
company Google launched the most
powerful Artificial Intelligence (AI)
model, named :

(a) Sana (b) Sama

(c) Gemini (d) Lynch

138. In Dec. 2023, who among the following

Indian actress was nominated for the
Person of the Year Award by PETA India
for raising her voice for Animal Protection
Laws and her love for animals?
(a) Vidya Balan

(b) Dia Mirza

(c) Sonakshi Sinha

(d) Deepika Padukone

139.Consider the following statements :

1. The 26th meeting of the Eastern

Regional Council was organized in

Patna (Bihar) in December-2023.

2. Eastern Regional Council includes 4

states.

Choose the correct statement(s) :
(a) 1 Only (b) 2 Only

(c) Neither 1 nor 2 (d) Both 1 and 2

140. In Dec. 2023, .......became the first female
transgender to be appointed as a senate
member in any university in India.
(a) Geetika Wasima (b) Fatima Kaul

(c) Reshma Prasad (d) Pushpa Parekh
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1. Ans– (a)

A R R A

Assertion (A) and Reason (R) both are correct and Reason (R) is the correct explanation of Assertion (A).
Because the Kaveri river originates from the Brahmagiri hills of Karnataka which receives rainfall from the
south-west monsoon while its lower region receives rainfall from the north-east monsoon. For this reason
this river flows almost throughout the year.

2. Ans– (d)

Nagoya Protocol – On October 24, 2010, in Nagoya, Japan, United Nations countries signed an agreement on
the sharing of genetic resources. This protocol came into force in 2014. Its objective is to protect forests, coral
reefs and biodiversity. Hence, all the three statements mentioned in the question are correct.

3. Ans– (b)

With an aim to compete with global cotton brands like Sushima and Giza, the central government has announced
the setting up of cotton test labs in 6 states– Maharashtra, Tamil Nadu, Haryana, Punjab, Gujarat and Karnataka.
Uttar Pradesh is not included in this.

4. Ans– (d)

d
The World Energy Council was established in 1923. Its headquarters is situated in London, UK. India is one
of the early members of the World Energy Council. Recently, the 26th edition of the World Energy Congress
was held in Rotterdam, Netherlands during 22-25 April 2024, with the theme ‘Redesigning Energy for People
and Planet’. Thus statement (d) is wrong.

5. Ans– (a)

Forex reserves include foreign currency assets, gold reserves, special drawing rights and reserve assets with
monetary fund.

6. Ans– (b)

Adani Group has launched the first phase of the world's largest single copper manufacturing plant in Mundra,
Gujarat. This plant will reduce India's dependence on copper imports.

7. Ans– (b)

Leaving the exchange rate of a currency free, so that it can determine its own new value based on the
conditions of demand and supply is called ‘Floating of Currency’.

Test Booklet Series

ARO-ARO (2023) -III- TEST-8(T-2)

EXPLANATORY ANSWERS
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8. Ans– (c)

Operation Green Scheme was launched by the Central Government in 2018. Initially, tomato, onion and
potato were included under this scheme, but in the Budget 2021-22, a total of 22 crops were included under
it. The Ministry of Food Processing is implementing Operation Green as a Central Sector Scheme under the
Pradhan Mantri Kisan Sampada Yojana.

9. Ans– (c)

In the interim budget 2024-25, a provision of capital outlay of Rs. 2.40 lakh crore (highest outlay so far) has
been made for Railways. Which is 9 times more than the outlay of the year 2013-14.

10. Ans– (d)

SIDBI

Stand Up India Scheme was announced in August 2015 with the aim of promoting entrepreneurship and
employment generation in the country. Which was launched on 5th April 2016 from Noida (Uttar Pradesh).
The Stand Up India initiative is being operated by Small Industries Development Bank of India (SIDBI). The
aim of this scheme is to provide loan of Rs. 10 lakh to Rs. 1 crore to at least one Scheduled Caste/Tribe and
one female borrower from every branch of all the commercial banks of the country for any new venture.

11. Ans– (c)

Wheeler Island (present name ‘Abdul Kalam Island’) is situated at the mouth of Brahmani River in Odisha. It
is known for missile testing.

12. Ans– (d)

A R

Assertion (A) is wrong but Reason (R) is correct.
The eastern coast of India is less shredded, hence the number of natural ports on the eastern coast is less.

13. Ans– (d)









The correct match is :
(Tribe) (State)

 Toda – Tamil Nadu
 Apatani – Arunachal Pradesh
 Konyak – Nagaland
 Gaddi – Himachal Pradesh

14. Ans– (c)








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(Mountain Peak) (Height)
 K-2 (Godwin Austin) – 8,611 m
 Kanchenjunga – 8,597 m
 Nanga Parbat – 8,126 m
 Namcha Barwa – 7,756 m

15. Ans– (a)

The central Ganga plain extends to eastern Uttar Pradesh and northern Bihar. This plain is extremely fertile.
Here at many places, oxbow lakes and old flow routes of rivers are found. The abundance of floods is the
specialty of this plain. Hence only statement-1 is true.

16. Ans– (c)

The districts of Uttar Pradesh bordering Haryana state are - Saharanpur, Shamli, Baghpat, Gautam Buddha
Nagar, Aligarh, Mathura. Muzaffarnagar shares border with Uttarakhand.

17. Ans– (d)

The black soil of Bundelkhand region is known by the names Karel, Cotton or Regur etc.

18. Ans– (d)

Betwa river originates from Kumra village, Raisen (M.P.). It flows through Jhansi, Auraiya, Jalaun and Hamirpur
districts of Uttar Pradesh. This river joins Yamuna river near Hamirpur. Parichha Dam (Jhansi) is situated on
the Betwa River.

19. Ans– (a)

The oldest wildlife sanctuary of Uttar Pradesh is Chandraprabha, which is situated in Chandauli district.

20. Ans– (c)

Charkula dance belongs to Brajbhoomi region while Pai Danda, Shaira and Rai dance belongs to Bundelkhand
region.

21. Ans– (b)









The correct match is :
(Branch) (Study)

 Herpetology – Study of amphibians, reptiles
 Dermatology – Study of skin
 Anthology – Study of flowers
 Entomology – Study of insects

22. Ans– (c)

‘Protoplasm’ was first termed by Johannes Purkinje. It is the living substance of the cell.

23. Ans– (b)
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Sternum in human skeleton connects the ribs together.

24. Ans– (c)

The digestion process starts from the mouth and finally ends in the small intestine. Absorption of nutrients
mainly occurs in the small intestine.

25. Ans– (d)

E

Another name of Vitamin-E is Tocopherol. Its deficiency causes problems like reduction in fertility, weakness
in genitals and muscles etc. and not skin diseases. All the other pairs mentioned in the question are correctly
matched.

26. Ans– (c)

Carbon Tetrachloride is a Fire Extinguisher.

27. Ans– (b)

Microwaves are used in telecommunication.

28. Ans– (a)

Metals are mostly solid and are good conductors of heat. Hence, statement-1 is correct.
Mercury is a metal, which exists in liquid state at normal temperature. Hence, statement-2 is incorrect.

29. Ans– (d)

National Waterway-6 was declared on 14 August 2013. Its total length is 121 km. This includes the waterway
of Barak River in Assam. It includes waterways from Lakhimpur to Bhoga (Karimganj) and from Bhoga to
Silchar.

30. Ans– (c)

Chambal River originates near Mhow situated in the Malwa Plateau of Madhya Pradesh. Its total length is 965
km. Its mythological name is Charmavati. Banas, Mej, Parvati, Kali-Sindh and Kshipra are its tributaries.

31. Ans– (a)









The correct match is :
(Waterfall) (River)

 Hundru – Subarnarekha
 Chuliya – Chambal
 Punasa – Narmada
 Shivasamudram – Kaveri

32. Ans– (c)
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The climate of Brazil is mainly humid tropical. Only in the southern parts the heat is less. It rains only in
summer. The Campos region has a Savanna climate. All other statements mentioned in the question are
correct.

33. Ans– (a)









The correct match is :
(Volcano) (Country)

 Popocatepetl – Mexico
 Mount Etna – Italy
 Mount Shasta – USA
 Mount Pinatubo – Philippines

34. Ans– (c)









The correct match is :
(Strait) (Location)

 Makassar – Indonesia
 Hudson – Canada
 Bass – Australia
 Bosporus – Turkey

35. Ans– (d)

Cotton is a member of the Malvaceae family and India is called the originator of cotton. Hence, both the
statements mentioned in the question are correct.

36. Ans– (a)









The correct match is :
(Local Wind) (Country)

 Pampero – Argentina
 Norte – United States of America
 Shamal – Iraq
 Yoma – Japan

37. Ans– (d)

A R

Assertion (A) is wrong but Reason (R) is correct.
Block mountains and Horst mountains usually appear similar but they are the result of different conditions
from the viewpoint of earth movement. Satpura mountains of India, Black Forest of Germany and Vosges
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mountains are the main examples of block mountains.

38. Ans– (b)









The correct match is :
(Centre) (Industry)

 Casablanca – Chemicals
 Sao Paulo – Coffee
 Copenhagen – Dairy
 Ottawa – Paper

39. Ans– (a)

Fundamental duties are only for citizens and not for foreigners. Like the Directive Principles, the Fundamental
Duties are non-justiciable. That is, there is no provision for their enforcement through the court. There is no
legal sanction against their violation.

40. Ans– (b)

All the fundamental rights are not permanent. Parliament can curtail them. Most of the fundamental rights
are self-enforced while some are made effective with the help of laws. Such law is made by the Parliament for
the unity of the country and not by the legislature so that uniformity is maintained throughout the country.
(Article 35)

41. Ans– (a)





(Subject) (List)
 Banking – Union List
 Toll Tax – State List

42. Ans– (b)









The correct match is :
(State) (Rajya Sabha Seats)

 Rajasthan – 10
 Tamil Nadu – 18
 Maharashtra – 19
 Kerala – 09

43. Ans– (b)




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

(Article) (Provisions)
 155 – Appointment of Governor
 169 – Creation of Legislative Councils in States
 263 – Provisions regarding Inter-State Council

44. Ans– (b)

Under the Government of India Act 1935, the diarchy system of governance in the provinces was abolished
and provincial autonomy was introduced.

45. Ans– (c)





 Constitution of Former Soviet Union – Right to Justice in Preamble
 Britain - Writ of Mandamus
All other pairs are correctly matched.

46. Ans– (c)





 Liberal - Intellectual Principles
Article 48 - Agriculture and animal husbandry should be done with modern and scientific methods

 Gandhian Principles
Article 48 - Prohibition on the sacrifice of cow, calf and other milch animals

47. Ans– (b)

There were two deputy chairman of the Constituent Assembly. Dr. H. C. Mukherjee and V. D. Krishnamachari
were the deputy chairman of the Constituent Assembly. The Constituent Assembly adopted the National Song
on 24 January 1950.

48. Ans– (d)









The correct match is :
(State) (Lok Sabha Seats)

 Jharkhand – 14
 Punjab – 13
 Bihar – 40
 Tamil Nadu – 39

49. Ans– (d)

A R

Assertion (A) is wrong but Reason (R) is correct.
The Revolutionary Socialist Party was established during the Ramgarh Congress Session in 1940. Its objective
was to throw out the British by force and then establish socialism in India.

50. Ans– (b)
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Mahatma Gandhi founded the ‘Natal Indian Congress’ in South Africa in 1894 and started a newspaper named
‘Indian Opinion’ in South Africa and established the ‘Phoenix Ashram’ in 1904.

51. Ans– (c)

Establishment of London Indian Committee – 1862 AD (London)
Founder – Purushottam Mudaliar

52. Ans– (b)









The correct match is :
 The Tribune – Sardar Dayal Singh
 Samachar Darpan – J.C. Marshman
 Navjivan – Mahatma Gandhi
 Gyan Pradayani – Navin Chandra Rai

53. Ans– (d)

The Tebhaga movement was a peasant movement. It was mainly centred in Bengal. It was started from
Hasnabad in Tripura. The main leaders of this movement were Kamparam Singh and Bhavan Singh.

54. Ans– (c)

On 20th August 1828, a new society was founded by the name of 'Brahma Sabha', which was later named
'Brahmo Samaj'. The concept of Brahmo Samaj was based on monotheism, theism and ethics. Religious gurus
were not required in this.

55. Ans– (b)









The correct match is :
(Major Rebellions) (Main Leaders)

 Fakir Uprising – Chirag Ali
 Ahom Revolt – Rupchand Konar
 Pagalpanti Rebellion – Tipu Mir
 Faraizi Movement – Dadu Mir

56. Ans– (b)
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All India Trade Union Congress
Established – 1920 AD (Bombay)
Founder – N.M. Joshi
President – Lala Lajpat Rai
General Secretary – Diwan Chamanlal

57. Ans– (b)

Swami Dayanand Saraswati was born in 1824 in Maurvi district (Gujarat). He founded the Arya Samaj in 1875.
He gave the slogan ‘Go Back to Vedas’. In 1874, he published the book ‘Satyarth Prakash’ which was written
in Hindi language.

58. Ans– (a)









(Newspaper) (Language)
 Pratap – Hindi
 India – English
 Samachar Darpan – Bangla
 The Samachar Press – Gujarati

59. Ans– (d)









 Ghiyas-ud-din Balban (1265-1287 AD)

 Nasiruddin Mahmud (1246-1265 AD)

 Alauddin Masud Shah (1242-1246 AD)

 Muizuddin Bahram Shah (1240-1242 AD)

60. Ans– (b)

Mohammad Gaus was a very important saint of the Shattari sect. He was a contemporary of the Mughal ruler
Humayun. The famous musician Tansen was his disciple. Tansen learnt Iranian music from him.

61. Ans– (c)











 Battle of Chanderi – 1528 AD
 Battle of Dohariya – 1532 AD
 Battle of Chausa – 1539 AD
 Battle of Bilgram – 1540 AD
 Battle of Sirhind – 1555 AD

62. Ans– (c)




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



(Imminent Personality) (Birth Place)
 Tulsidas – Uttar Pradesh
 Veerbhan – Punjab
 Dadu Dayal – Gujarat
 Sundardas – Rajasthan

63. Ans– (c)

IIP

The data for the Index of Industrial Production (IIP) is released by the Central Statistics Office on a monthly
basis. For this, 2011-12 is considered as the base year.

64. Ans– (c)

Because of the abundance of water in the southern hemisphere, westerly winds blow roaring very fast
without any interruption in the latitudes of 400 to 600. These westerly winds have been named ‘Roaring
Forties’ at 400 south latitude, ‘Furious Fifties’ at 500 south latitude and ‘Shrieking Sixties’ at 600 south
latitude.

65. Ans– (b)

LSD (Lysergic Acid Diethyllamide)

LSD (Lysergic Acid Diethyllamide) is a hallucinogenic substance, which is obtained from Claviceps Paspali
named fungus. Hence Statement-2 is incorrect.

66. Ans– (b)

The Godavari river originates from the Trimbaka hills situated near the Nashik district of Maharashtra. The
correct order of its tributaries from the origin towards the delta is – Wainganga, Penganga, Pranahita, Indravati.

67. Ans– (d)

Jatindranath Mukherjee has been one of the main revolutionaries of Bengal. He was a loyal follower of
Vivekananda and Aurobindo Ghosh. He has been an active member of organizations like Yugantar, Anushilan
Samiti and Ghadar Party.

68. Ans– (d)









The correct match is :
 Bhandara – Manganese
 Nellore – Mica
 Dalli Rajhara – Iron Ore
 Rakha Mine – Copper

69. Ans– (c)
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The provisions regarding the Comptroller and Auditor General are described in Articles 148 to 151 of the
Constitution. He is appointed by the President. His salary is equal to that of a judge of the Supreme Court. His
tenure is 6 years or till the age of 65 years.

70. Ans– (b)

At present, the Telangana Plateau is spread over Telangana and southern Andhra Pradesh. The northern
part is known as ‘Telangana’ and the southern part is known as ‘Rayalaseema’.

71. Ans– (c)

By the mid of the 6th century AD (around 550AD), the mighty Gupta Empire was completely disintegrated.
The decline of the Gupta Empire once again encouraged the trend of decentralization and division in Indian
politics. Many feudatories and rulers declared their independence and advanced rapidly in the race for
power. Therefore, it is clear that there has been a reduction in central control.

72. Ans– (c)

The 'Muktai' was a mixed system of determination of land revenue in the Sultanate period. This system was
called 'Kankut' during the Mughal period. In this system, the farmer and the government servant used to
estimate the yield by mutual consent, on the basis of which the farmer was ready to pay the revenue.

73. Ans– (a)

Alpha particles were discovered by Henri Becquerel. When an alpha particle is emitted from a radioactive
atom, its mass number decreases by 4 and its atomic number decreases by 2.

74. Ans– (b)

(NTPC)

Koldam Project (Himachal Pradesh), Tehri Hydroelectric Project (Uttarakhand), Koteshwar Hydroelectric Project
(Uttarakhand), Doyang Project (Nagaland), Tuirial Project (Mizoram), Kameng Project (Arunachal Pradesh) etc.
are the hydroelectric projects set up by NTPC while Salal and Dhauliganga are hydroelectric projects set up by
NHPC (National Hydroelectric Power Corporation).

75. Ans– (b)

Statement-1 is wrong, while statement-2 is correct. Because the Department of Women and Child Development,
Government of India came into existence as a separate department in 2006, before that it was a department
under the Ministry of Human Resource Development since 1985.

76. Ans– (a)

A R R A

Assertion (A) and Reason (R) both are correct and Reason (R) is the correct explanation of Assertion (A).
The then Viceroy Lord Wavell called a conference in Shimla to resolve the political deadlock, which lasted
from 25 June to 14 July 1945. People from many political parties participated in this conference. The
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Congress delegation was led by Abul Kalam Azad. During this conference, the Muslim League had put a
condition that it would itself select all the Muslim members to be appointed in the Viceroy's Executive
Council. It was not possible for the Congress to accept this. Hence, this conference failed.

77. Ans– (d)

Naujawan Sabha was founded by Bhagat Singh in 1926, Hindustan Socialist Republican Association was
founded on 10th September 1928, Saunders was assassinated on 17th December 1928 while the Chittagong
Army Raid incident took place on 18th February 1930.

78. Ans– (c)

The sixth session of the Congress was held in Kolkata in 1890, not Mumbai. Here the Congress leaders
passed a resolution that the Congress session in 1892 would be held in England, not in India. This session
was also addressed by Kadambini Ganguly, the first female graduate of Kolkata University. Later, the Congress
session of 1892 was held in India.

79. Ans– (b)

(b)

Pair (b) is not correctly matched, because Mansabdari system was started by Akbar in 1567 AD. All other pairs
are correctly matched.

80. Ans– (a)

Medhatithi, a medieval commentator, strongly opposed the practice of Sati, calling it a form of suicide and
completely prohibited for women.

81. Ans– (c)









 Thein Dam Project is on Ravi River in Punjab.
 Koldam Project ison Sutlej River in Himachal Pradesh.
 Salal Project is on Chenab River in Jammu and Kashmir.
 Kalagarh Dam Project is on Ramganga River in Uttarakhand.

82. Ans– (d)

Anshan city is called the steel capital of China due to the development of iron and steel industry, while
Shenyang city is called the Pittsburgh of China. Hence, both the statements mentioned in the question are
wrong.

83. Ans– (a)

(a)

Statement (a) is not correct because the power to hear election petitions was given to the High Court by the
19th Constitutional Amendment Act, 1966. While the following changes were made by the 15th Constitutional
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Amendment Act, 1963-
1. Retirement age of High Court judges increased from 60 to 62 years
2. Provision for appointment of retired High Court judges as acting judges in the same High Court
3. Payment of compensatory allowances to judges on transfer from one High Court to another
4. Provision for appointment of retired High Court judges as temporary judges in the Supreme Court.

84. Ans– (b)

Both cerebrum and diencephalon are parts of the forebrain. Cerebrum is the centre of intelligence, consciousness
and memory. The sensations received from the sense organs are analysed and coordinated here and sensations
are transmitted to the voluntary muscles for appropriate response. Hence statement-1 is wrong, while statement-
2 is correct.

85. Ans– (d)

The unit of high velocity is Mach, the unit of wavelength is Angstrom, the unit of pressure is Pascal and the
unit of energy is Joule.

86. Ans– (a)

Such funds through which investments are made in government securities are called ‘Gilt Funds’. Investments
made in government companies are considered to be better and safer.

87. Ans– (c)

To encourage young authors, the Pradhan Mantri Yuva Yojana was launched by the Ministry of Education in
May 2021. Under this, a writing competition on selected topics is organized at the national level to select 75
youth under the age of 30 years.

88. Ans– (b)

In the various processes of succession, 'Nudation' refers to the process of providing free space for the arrival
of the new community.

89. Ans– (a)

'Sangeet Ratna Award' is given every year by the Government of Uttar Pradesh since 2006 in the memory of
Ustad Bismillah Khan.

90. Ans– (d)

Koleroga Disease is found in Walnuts and Betel Nut. All others are correctly matched.

91. Ans– (c)

All the statements mentioned in the question are correct.

92. Ans– (c)

Both the statements mentioned in the question are correct.

93. Ans– (c)
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‘Lath Bharava Bhoj’ is Feast given by Tharus in the event of widow marriage.

94. Ans– (d)

Chandubi, Chapnala, Haflong etc. main lakes are situated in Assam.

95. Ans– (d)

The Nobel Prize in the field of Economics was firstly given to Ragnar Frisch and Jan Tinbergen.

96. Ans– (c)









The correct match is :
 Gilat Jewelery – Mathura
 Sports Goods – Meerut
 Wooden Toys – Varanasi
 Glass & Pottery – Firozabad

97. Ans– (b)

M-Cap

M-Cap means gross market value of all the shares of the company. In the form of the percentage of Gross
Domestic Product it represents the financial maturity of any economy and the status of Corporatization in the
country.

98. Ans– (a)

In 1910, ‘Pratap’, the main revolutionary magazine published from Kanpur of Uttar Pradesh was edited by
Ganesh Shankar Vidyarthi.

99. Ans– (c)

Pneumatophores Roots are found in mangrove plants.

100. Ans– (a)

A R R A

Assertion (A) and Reason (R) both are correct and Reason (R) is the correct explanation of Assertion (A).
Australian continent is known as "Land of the Golden Fleece" because Australia produces the maximum wool
at the world level.

101. Ans– (c)

Obra Hydroelectric Project over the river Rihand is situated in district Sonbhadra while Rajghat, Sheetla,
Matatila are situated on the river Betwa.

102. Ans– (a)

The unit of Ecological Footprint is Global Hectares.

103. Ans– (c)

 M1 =
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 M1 = Currency with the public (Currency notes and coins) + Demand Deposits of Banks + Other
deposits with Reserve Bank of India.

Fixed Deposits with Banks are not included in it.

104. Ans– (c)

Hawk is a consumer of tertiary category, not of secondary category.
All those animals which depend on secondary consumers for food, are called consumer of tertiary category;
such as; Hawk, Eagle Lion etc.

105. Ans– (b)

Employee State Insurance Scheme in India was started in the year 1952.

106. Ans– (c)

The element not found in the blood is Chromium. While the presence of Iron, Copper and Magnesium is found
in blood.

107. Ans– (b)

Leukemia is also called Blood Cancer, in which No. of White Blood Cells in the blood is increased than the
need.

108. Ans– (c)

= 

= 

 = 15 + 7 – 1 = 21
Ram's position in the row = 11th from the left
Seema's position in the row = 7th from the right
After interchanging the positions Ram's position becomes 15th from the left
Number of students in the row = 15 + 7 – 1 = 21

109. Ans– (b)

[Number of triangles with one component] = 16

[Number of triangles with four components] = 7

[Number of triangles with nine components] = 3

[Number of triangles with sixteen components] = 1

 [Total number of triangles] = 16 + 7 + 3 + 1 = 27

110. Ans– (a)

[Total Incidents] = 6

A
The event of coming A may take place in 2 different ways.

A [Probability of comming A] 
2 1

6 3
 

111. Ans– (b)

4 9 36 6  

9 16 144 12  

16 16 20x x  

[On squaring both the sides]
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16x = 400

400
25

16
x  

Hence ? = 25

112. Ans– (d)

[The given series is as follows]

–1, 0, 1, 8, 27, 64

     
–13 03 13 23 33 43

? = 43 64

113. Ans– (d)

If teaching is related to learning then treatment is related to diagnosis of disease.

114. Ans– (b)

‘A’, ‘M’ (b) 
According to the diagram it is clear that ‘A’ is the brother of ‘M’, not the father, hence statement (b) is not
correct.

115. Ans– (c)

There is a rule of (+1) between each of the given letters i.e. on observing the position of the given letters-

[Now, the asked number] 

3    8    9    14   1         4    9   10    15    2

C   H    I     N    A       D    I    J     O     B

116. Ans– (c)

48 = 30 + 24 – 6 (30, 24 = 6)

48 = 48

72 = 45 + 36 – 9 (45, 36 = 9)

72 = 72

? = 48 + 16 – 12 (48, 60 = 12)

= 108 – 12  96
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In the given series, the larger number successively rotates one place in anticlockwise direction and the larger
number is obtained by subtracting the highest common factor of other two numbers from their sum, i.e.

48 = 30 + 24 – 6 (HCF of 30, 24 = 6)
48 = 48

And 72 = 45 + 36 – 9 (HCF of 45, 36 = 9)
72 = 72

Similarly
? = 48 + 16 – 12 (HCF of 48, 60 = 12)
= 108 – 12  96

117. Ans– (d)

‘O’ 

Suppose that the boy starts walking in the east direction from point ‘O’. After moving 5 km, he moves 2 km in
the left (north direction), he again turns right and moves 3 km in the east direction and again turns left. So
now he is moving in the north direction.

118. Ans– (d)

Series 

? = 104 + 77 = 181

119. Ans– (b)

26 January, 15 August and 2 October are celebrated as national festivals while 13 April is different from
them.
Note:- Jallianwala Bagh incident took place on 13 April.

120. Ans– (c)

Number of grains required for birds to eat–
= 94 = 9 × 9 × 9 × 9 = 6561

121. Ans– (a)

National Geoscience Data Repository Portal was launched by the Ministry of Mines on 19th December 2023
as a comprehensive online platform to access, share and analyze geospatial information across India.

122. Ans– (c)
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In December-2023, Italy announced its exit from China's Belt and Road Initiative. This project was started
by China in the year 2013.

123. Ans– (a)

In December-2023, ‘Krutrim’ became India's first AI Startup to be a Unicorn. This startup is founded by
Bhavish Aggarwal.

124. Ans– (a)

The 18th G-20 Summit was hosted by India in December 2023. The main theme of this Summit was
‘Vasudhaiva Kutumbakam’.

125. Ans– (b)

Mahua Moitra was disqualified from the Lok Sabha in December 2023 for her involvement in the ‘Cash for
Query’ scam. Mahua Moitra was a Member of Parliament from Krishnanagar (West Bengal) of the All India
Trinamool Congress Party.

126. Ans– (b)

According to the 'India Skills Report- 2024' published in December-2023, Kerala state has emerged as the
most preferred state to work. According to this report, the overall youth employability has improved in India.

127. Ans– (c)

In Dec. 2023, Gujarat government announced to start India's first submarine tourism in the year 2024. It
will be started from Dwarka (Gujarat).

128. Ans– (c)

Both the statements regarding ‘Good Governance Day’ celebrated on 25 December 2023, mentioned in the
question are correct.

129. Ans– (a)

In December-2023, Prerna Devsthali became the first woman officer to be deployed on a warship in the Navy.
She is a resident of Mumbai.

130. Ans– (a)

In December-2023, a committee was formed under the chairmanship of Bhupinder Singh Bajwa for the
functioning of the Indian Wrestling Federation. Other members of the committee include M.M. Somaya and
Manjusha Kanwar.

131. Ans– (c)

‘Empowering

Investors: IPA Leading the Future of Growth’
In December-2023, the 27th World Investment Conference-2023 was organized in New Delhi. The main
theme of this conference was ‘Empowering Investors: IPA Leading the Future of Growth’.

132. Ans– (c)
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In Dec. 2023, a report titled ‘Worldwide Cost of Living-2023’ was released by the Economic Intelligence
Unit (EIU), according to this report, the most expensive and cheapest city in the world are Singapore and
Damascus respectively.

133. Ans– (d)

All the pairs mentioned in the question are correctly matched.

134. Ans– (b)

INS Imphal Warship was inducted into the Indian Navy in December 2024, which become the first warship
to be named after a city in North East India.

135. Ans– (b)

The 42nd Ramayana Fair was inaugurated in Ayodhya city of Uttar Pradesh in December 2023. This fair is
organized every year with the cooperation of UP government and Ramayana Fair Committee.

136. Ans– (a)

UNIDROIT

in December-2023, Uma Shekhar became the first Indian woman officer to be selected to the Governing
Council of the International School for the Unification of Private Law (UNIDROIT).

137. Ans– (c)

In Dec.-2023, American search engine company Google launched the most powerful Artificial Intelligence
(AI) model, named Gemini. Gemini Ultra is Google's most powerful large language model.

138. Ans– (b)

In December 2023, Indian actress Dia Mirza was nominated for the Person of the Year Award by PETA
India for raising her voice for Animal Protection Laws and her love for animals.

139. Ans– (d)

The 26th meeting of the Eastern Regional Council was organized in Patna (Bihar) in December-2023. Eastern
Regional Council includes 4 states. Union Home Minister is the chairman of these regional councils.

140. Ans– (c)

In Dec. 2023, Reshma Prasad became the first female transgender to be appointed as a senate member in any
university in India. She has been nominated as Senate member in Patna University.

---------------
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